
BGGET-142 1   P.T.O. 

 BGGET-142  

BACHELOR OF SCIENCE (GENERAL) 

(BSCG) 

Term-End Examination 

June, 2022 

 
 

BGGET-142 : ECONOMIC GEOGRAPHY 

Time : 3 hours Maximum Marks : 100 

Note :  All questions are compulsory. Marks are mentioned 

against each question.  

 

Answer questions 1 to 5 in 500 words each.  

1. What is economic geography ? Write a detailed 

note on scope and nature of economic geography. 10 

OR 

 What is regional disparity ? Explain in detail the 

regional disparities with suitable examples. 

2. What is industry ? Explain in detail the  

agro-based industries with suitable examples. 10 

OR 

 Discuss any ten factors affecting industrial 

location, with suitable examples. 
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3. What are commercial activities ? Discuss various 

types of commercial activities by citing suitable 

examples. 10 

OR 

 Briefly discuss different modes of transport. 

Highlight the characteristics of water transport 

in detail. 

4. What is land use ? Explain in detail the land use 

classification schemes at national and 

international levels with suitable examples. 10 

OR 

 Define resources. Discuss in detail the three 

aspects as postulated in the functional theory of 

resources. 

5. What is dairy farming ? Write a detailed account 

on dairy farming in India by citing suitable 

examples. 10 

OR 

 What is mining ? Explain in detail the various 

methods of mining with suitable examples. 

6. Answer any five of the following questions in 

250 words each : 56=30 

(a) Explain any two types of traditional 

approaches of economic geography. 

(b) What is territorial division of labour ? 

Explain with suitable examples. 

(c) Discuss any four assumptions adopted by 

August Losch in his theory of industrial 

location. 
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(d) Differentiate between wholesale and retail 

trade by citing suitable examples. 

(e) What are minerals ? Briefly discuss with 

suitable examples. 

(f) Differentiate between semi-nomadic herding 

and transhumance by citing suitable 

examples. 

(g) What is petro-chemical industry ? Briefly 

explain with suitable examples. 

7. Answer any five of the following questions in 

150 words each : 54=20 

(a) Differentiate between temporal approach 

and utility approach of economic geography. 

(b) Explain any two economic indicators with 

suitable examples. 

(c) What are metallic minerals ? Discuss three 

sub-categories of metallic minerals. 

(d) Name any two theories of industrial location. 

Briefly highlight their major features. 

(e) What is capital cost ? Explain with suitable 

examples. 

(f) Discuss any one critical issue being faced by 

Indian food processing industry. 

(g) What are tertiary activities ? Briefly discuss 

with suitable examples. 
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 ~r.Or.Or.B©.Q>r.-142  

 {dkmZ ñZmVH$ (gm_mÝ`) 
(~r.Eg.gr.Or.)  

gÌm§V narjm 

OyZ,  2022 

 

~r.Or.Or.B©.Q>r.-142 : Am{W©H$ ŷJmob 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : g^r àíZ A{Zdm`© h¢ & àË`oH$ àíZ Ho$ gm_Zo A§H$ {XE JE  
h¢ &  

 

1 go  5 àíZm| Ho$ CÎma 500 eãXm| (àË òH$) _| Xr{OE &  

1. Am{W©H$ ^yJmob Š`m h¡ ? Am{W©H$ ^yJmob Ho$ {df`-joÌ Am¡a 

àH¥${V na {dñV¥V {Q>ßnUr {b{IE & 10 

AWdm 

 joÌr` {df_Vm Š`m h¡ ? Cn`wº$ CXmhaUm| Ho$ gmW joÌr` 

{df_VmAm| H$s {dñV¥V ì`m»`m H$s{OE & 

2. CÚmoJ Š`m h¡ ? Cn`wº$ CXmhaUm| Ho$ gmW H¥${f-AmYm[aV 

CÚmoJm| H$s {dñV¥V ì`m»`m H$s{OE & 10 

AWdm 

 Cn`wº$ CXmhaUm| Ho$ gmW Am¡Úmo{JH$ AdpñW{V H$mo à^m{dV 

H$aZo dmbo {H$Ýht Xg H$maH$m| H$s MMm© H$s{OE & 
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3. ì`mdgm{`H$ J{V{d{Y`m± Š`m h¢ ? Cn ẁº$ CXmhaUm| H$m 
CëboI H$aVo hþE {d{^Þ àH$ma H$s ì`mdgm{`H$ J{V{d{Y`m| 
na MMm© H$s{OE & 10 

AWdm 

 n[adhZ Ho$ {d{^Þ gmYZm| na g§jon _| MMm© H$s{OE & Ob 
n[adhZ H$s {deofVmAm| na {dñVma go àH$me S>m{bE & 

4. ^y{_ Cn`moJ Š`m h¡ ? Cn ẁº$ CXmhaUm| Ho$ gmW amï´>r` Am¡a 
A§Vam©ï´>r` ñVam| na ^y{_ Cn`moJ dJuH$aU `moOZmAm| H$s 
{dñVma go ì`m»`m H$s{OE & 10 

AWdm 

 g§gmYZm| H$mo n[a^m{fV H$s{OE & g§gmYZm| Ho$ H$m`m©Ë_H$ 
{gÕm§V _| ~VmE JE VrZ nhbwAm| na {dñVma go MMm© 
H$s{OE & 

5. S>oar \$m{_ªJ Š`m h¡ ? Cn`wº$ CXmhaUm| H$m CëboI H$aVo 
hþE, ^maV _| S>oar \$m{_ªJ na EH$ {dñV¥V {ddaU Xr{OE & 10 

AWdm 

 IZZ Š`m h¡ ? Cn`wº$ CXmhaUm| Ho$ gmW IZZ Ho$ {d{^Þ 
VarH$m|/{d{Y`m| H$s {dñVma go ì`m»`m H$s{OE & 

6. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma 250 eãXm| 
(àË`oH$) _| Xr{OE : 56=30 

(H$) Am{W©H$ ^yJmob Ho$ {H$Ýht Xmo àH$ma Ho$ nma§n[aH$ 
CnmJ_m| H$s ì`m»`m H$s{OE &  

(I) l_ H$m àmXo{eH$ (territorial) {d^mOZ Š`m h¡ ? 
Cn`wº$ CXmhaUm| Ho$ gmW g_PmBE & 

(J) AJñV bm°e (August Losch) Ûmam AnZmB© JB© 
Am¡Úmo{JH$ AdpñW{V Ho$ {gÕm§V H$s {H$Ýht Mma 
YmaUmAm| (assumptions) H$s MMm© H$s{OE & 
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(K) Cn`wº$ CXmhaUm| Ho$ gmW WmoH$ Ed§ IwXam ì`mnma Ho$ 
_Ü` A§Va ñnîQ> H$s{OE & 

(L>) I{ZO Š`m h¢ ? Cn ẁº$ CXmhaUm| Ho$ gmW g§jon _| 
MMm© H$s{OE & 

(M) Cn`wº$ CXmhaUm| H$m CëboI H$aVo hþE AY©-Mbdmgr 
newMmaU Am¡a G Vw-àdmg Ho$ _Ü` A§Va ñnîQ>  
H$s{OE & 

(N>) noQ´>moHo${_H$b CÚmoJ Š`m h¡ ? Cn`wº$ CXmhaUm| Ho$ gmW 
g§jon _| g_PmBE & 

7. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma 150 eãXm| 
(àË`oH$) _| Xr{OE : 54=20 

(H$) Am{W©H$ ^yJmob Ho$ H$m{bH$ Ñ{ï>H$moU/CnmJ_ 
(temporal approach) Am¡a Cn`mo{JVm 
Ñ{ï>H$moU/CnmJ_ Ho$ ~rM A§Va ñnîQ> H$s{OE &  

(I) Cn`wº$ CXmhaUm| Ho$ gmW {H$Ýht Xmo Am{W©H$ g§Ho$VH$m| 
H$s ì`m»`m H$s{OE & 

(J) YmpËdH$ I{ZO Š`m h¢ ? YmpËdH$ I{ZOm| H$s VrZ 
Cn-lo{U`m| H$s MMm© H$s{OE & 

(K) Am¡Úmo{JH$ AdpñW{V Ho$ {H$Ýht Xmo {gÕm§Vm| Ho$ Zm_ 
~VmBE & CZH$s à_wI {deofVmAm| na g§jon _| àH$me 
S>m{bE & 

(L>) ny±OrJV bmJV Š`m h¡ ? Cn`wº$ CXmhaUm| Ho$ gmW 
g_PmBE & 

(M) ^maVr` ImÚ àg§ñH$aU CÚmoJ Ho$ g_j AmZo dmbr 
{H$gr EH$ {dH$Q> g_ñ`m na MMm© H$s{OE & 

(N>) V¥Vr`H$ J{V{d{Y`m± Š`m h¢ ? Cn`wº$ CXmhaUm| Ho$ 
gmW g§jon _| MMm© H$s{OE & 


